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Which of the following acid is present in sour rmlk?

(u) glycobc acid

(¢) citrns acid

Ans : (b) Inctic ncid
Lactic acid present in sour milk or curd

(b) lactic acid
(d) tortaric acid

An acd (A) with sodim hydrogen carbonate is used
in making the cakes fluffy and spongy. It is due to the
release of (B) gas in the reaction. Here, X and Y are
(a} A Oxalicocid B . CO,

(b) A Twrtwic acid . 8 O,

(¢) A - Succinic acid - B H,

(d) A Tartaric acid - B CO.

Ans: (d) 4 Tartwic scd ; 8. COy

The acid (A) s tartaric acid that rescts with sodinm
hydrogen curbonate, It makes cakes Mluffy and spongy
It is due 1o the release of (O, gas (H) i the reaction
NsHG'),(ﬂ'-O- H (aq) — O, (g) + HyO(D + sodium salt of aecd
When COy 15 passed through lime water, it tums
milky. the milkiness in due to formation of

ta) CaCOy (b) Ca(OH).
(c) H,O (d) CO,
Auns : (a) CaCO,

Ca(OH);+ CO;

Incorrect statement about acids is/are

(1) they have sour taste

(b) they may change the colour of mdicator

(c) thes changes the colour or blue litius to ved

(d) they change the colour of red hitinms to blue

Ans : (d) they change the colonr of ved litmns to blne
Acids will change the colonr of blue litimus to red but

makes no effect on red litnus Hence, statement (d)
1S meorrect.

When aquecus sodium carbonate (Na,CO;) reacts
with HOl(ag). it gives

(a) NaOH. Hi(g) and CO,(g)

{b) NaCl, HyO and CO4(g)

(¢) NaHCO;, Hyl(g) and CO4(g)

(d) NeHCO,, H,0 and CO,(g)

Ans : (b) NaCl, H;0 and COs(g)

It is on example of acid (HC1) and base (Nu.COj)
reaction, beenuse Na,COj; is basic in nature Thns, the

6.

reaction gives salt (NaCl), wuter (H,0) and CO4(g).

Na:COs laq) + 2HO! (ag) ——+ INAC () + HyO (D + COs ()
Chemical formula of haking soda is

(n) MgSO, (b) Na,CO;

(c) NaHCO, (d) MgCO,

Az : (¢) NalHCO,

2
3
4
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The acid used in making of vinegar s~

() formic acid (b) scetie acid
(e} sulphuric acid () nitnie weid
Aus : (b) acetic acid

6-12% acetic acid is known as vinegar

Cu0 4+ (X) — CuSO,+ H.O Here (X) is-
() CuSO, (b) HCY
(c) H.50, (d) HNOy

Aus : () H.SO.
CnQ +H,80, — Cn50‘+l{,0

Acetic acad was added to asolid X kept in a test tube.

A colowrless and odourless gas wos evolved, The gas

was passed through lime water which turned milky It

wns concluded that

(a) Salid X s sodium hydroxide and the gas evolved
is U0,

(b) Solid X = sodium bicarbonate and the gas evolved
is U0,

(c) Salid X is sodinm acetate and the gas evolved is
O,

(d) Sohd X s sodum chlonde and the gas evolved s
O,

Ans : (b) Solid X is sodium bicarbonate and the gos

evalved is CO,

NaHDO y(e) + TH,O0O0H (aq) =< CH,CO0" Na* (aq) + OO g} + B, 000
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CO4(8) +Ca(OH)s(aa) — CaCOs(s) L HO()

Consider the following reaction
Tron (I1)
B ehloride
Sodium | A Hydrogen[” € | Ammoninn
chloride chloride chloride
v
chloride

Here, A, 8.C and D respectively are
(n) A= Conc. HCl; B= Fe; = NH,OH: D =TPbO

(b) A= Cone. H,80,;; B=Fe; C=NH OH:
D= Ph(NOy),

(¢) A= Conc. H;SO( B=Fe, C=NH;,
D= Pb(NO;)s

(d) A= Conc. HCl, B=Fe ¢'=NH;; D=Ph0

Ans:(c) A= Conc. H;80, B=Fe: =NHi:

D =FPbiNOg),

1. NaCl4+H:80, "™ NaHS0, + HCL *

2 2HCI+Fe Fell,+ H,

3. HCO(w) +NHj(g) — NH,C1
Antacids contain-
(n) wenk hose

{c) strong buse
Ans : (n) weak base
Antacids are weak bases which axe given when a
patient 15 suffering from acidity These antacids
neutralises the acid and give relief 1o paticnt.

{b) weak seid
(d) strong acid

A solution reaets with crushed ege-shells to give o gas
that rurns hme-water milky The solution contasins

(a) NaCl {b) HC1
(e} LaCl (d) KC1
Ans : (b) HCI

The egg-shells are made up of caleium carbonate
When it reacts with HCL it hberates CO4 gas which
turns lime water milky

CaCOy42HCI — CaCl.+ H.0 + CO,
Lot chbowie

Yon are having five solutions A, #,C D and E with
pH values as follows: :
A=18 B=7, C=85 D=8 and E=5

Which solution wonld be mast likely to lberate

hydrogen with msgnesiun powder?
(n) Solntion 4 and B (h) Salution A
() Solntion €' (d) All of the above

Ans : (b) Solution A

Sohition A would hberate hydrogen with magnesium
beeause pH valne s lesst for A solutionie 18 Hence,
1t i the most acidic among all the solntions.

In one of the industrial processes nged for mannfacture

8.
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of sodinm hydroxide, o gas X is formed ng by-product,
The gas X reacts with lime water to give a compound
Y which is used 8s a bleaching agent in chennenl
industry. The compound X and ¥ could be

(a) H; and NaHCO, respectively

(b) COs and CaOCls respectively

(¢) Cly and CaOC1, respectively

(d) Cly and NaHCO; respectively

Ans : (¢) Cls and CaOCly respectively

The gus 1eleased during the manmfacture of sodiwn
hydroxide i chlorine, Cla(X)

2NaCl(aq) + 2H,0 () — 2NaOH (aq) + Cl,(2) + H,(g)
Cl; is given off at anode

Cl1,(X) when reacts with lime water (V), a compound
called bleaching powder, CaOCl. is obtaived.
Ca(OH)a(aq) + Cly(g) — CaOCly(s) H,0 ()

FPlaster of pairs i made from-

() lune stone (b) sluked lime
(¢} quick lime (d) gypsum
Ans ¢ (d) gypsum

Plaster of pars i prepared by heating gypsim at 373 K
oSO, 2H:0 — = CaS0, - 1/2H,0 + SH,0

Om prolong supply of CO4(g) in lime eohation (Hme-

water). it is observed that

(n) lime solution changes to gaseons state

(b} the milkiness of ke water disappears

() the milkiness of lime water changes from white o
recd

(d) the colour of lime water becomes black

Ans : (b) the mlkiness of lime water disappears

On prolong supply of CO,(g) in lime solution, the

milky solution becomes colonrless due to formation of

CaCOj(s).

Ca(OH)a(ag) + CO.(g)
Loty wnbes o

* CaCOy(s) + H20()
e

When Ca(OH)» reacts with COs(g), it will give
CaCOy(s) and H,O({). The nature of CaCO; is

(a) oeidic (b) basie
{c) nentral (d) All sre possible
Ans : (b) basic

CaCO; is basic in nature. a= it is the salt of strong
base Ca{OH): (calcium hydroxide) and a wesk aad,
H,CO; (earbonic ncid)

The conect statement regarding universal mdicator s
{a) it 1 an mdicator having pH = 7

(b) it gives blue colour at pH =3

(¢) 1t becomes colourless at pH =7

(dd) it gives orange colour st pH = 3

Aus : (d) it gives orange colour at pH =3

Universal indicator is mixture of many indicators Its
colour 18 ovange at pH = 8.

A blue litinue paper was first dipped in dil HCI and
then m dil. NaOH solution. 1t was observed that the
colour of the litmns paper-

ta) changed 1o red
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Chap 2 . Acid Base and Salt

(b) changed first to red and then to biue

(c) changed blue to colourless

(d) romains bhue in both the solutions

Ans : (b) changed first to red and then to blue

In acid blue hitrns changes to red and in basic solution

red litnus changes to blue. Hence blue htmus first
changes itx colour to red and then tw blue,

20. Bleaching powder is soluble m cold water giving a
milky solution due to-
(n) availahle chlorine
(b) lime present in it
(¢) calcinm carbonate formation
(d) The absorption of carbon dioxide from atmosphere
Ans : (b) lime present in it
Bleaching powder is actually o mixture of calaum
hypochlorite CaOCl; and the busic chloride CaCly
with some slaked, Ca(OH).

1. Reaction of an acid with o base is known as-
(a) decompesition (b) combmation
(¢) redox reaction (d) nentralization
Ans : (d) neutralization

In o nentralization reaction an neid reacts with a base
and forms sslt and woter

22. Which of the following acid does not react with metals-
(&) sulphuric scid {b) phosphoric acid
(¢) carbonic acid (d) mine acud
Ans : (¢) carbonic scid

3. Bleaching powder gives smell of chlorine becanse it-
{a) s unstable
(b) gives chlorine on exposure to atmosphere
(¢) is 0 rixture of chlorine and slaked lime
(d) containg excess of chlorne

Ans : (b) gives chlorine on exposure to atmosphere
CaOCl+ COy — CaCO3+ Cly(g)

M. When NaOH end HCl are mixed in equal molar
quantities, the result i
{a) the formation of salt +H.0
(b) the formation of salt. +Ha(g)
{¢) the formation of salt +0.(z)
(d) All above sre correct
Ans : (a) the formation of salt +H.0

When NaOH and HCl are mixed in equal molar
quantities, acid-base reaction takes place and we get
salt (NaCl) and water

NaOH 4+ HCl — N&Cl + H.,0

25. Awvd turn blue htrons-

(a) green {b) red
(0} vellow (d) arange
Auns ¢ (b) red

26. Washing soda has the formula-
(A) NMCO; s 711:0 (h) NMCO,‘ 2 IG}{,O

Downloaa i Gl o utd Simatple Paper pdis

(¢) Na,CO,-H,0O
Ans : (b) Na,CO4- 10H,O

(d) Na,CO;

An aqueons solution tums red litmos salntion blue.
Exvess addition of which of the following solution
woutld reverse the change?

(a) Bakmg powder

{b) Lime

(e) Ammoninm hydvoxide solution

(d) Hydvochloric acid

Ans : (d) Hydrochlovic acid

. The organie seid present in tomato is

(n) oxalic acid
(¢) malic acid
Ans ¢ (n) oxalic acid
The organic acid present in tomato is oxalic acid.

(b) Inctic acid
(d) tortaric acid

Which aof the following i seidic in nature-

{(n) upple juice (b) soap sohution

{c) slaked lone (d) lime

Ans : (a) apple juice

The pH of varies from 3-35 to 4. The lesser the pH
the more the acidity Hence apple juice 15 |, scidic in
pature and all other are m basic natare

The reagent used to distingnish iron (11) chloride and
iron (I11) chlonde 15
(n) distilled wator
{c) dil HCI

Ans : (b) NaOH
Iron (11) chlonde is dissolved in water and then
sodinm hydroxude is addad. A dirty green precipitale
is obtained which confirms the presence of non (11)
chloride

FeCly+2NaOH — Fe(OH) s+ 2NaCl

Irom (111) chloride is also dissolved m water and
then sodinm hydvoxide solution is added A reddish
brown previpitate is obtamned, which confirms the
presence of iron (L) chloride.

The pH of o solution is 4 0. What should be the change
in the hydrogen ion concentyation of the solution, if its
pH is to increased to 5.0,

() decreases to 1/10 of its original concentration

(b) halved

(¢) donbled

(d) increases by 10 tunes

(b) NaOH
{d) Warm water

Ans ¢ () decreases to 1 /10 of its oviginal concentration
The pH of o solution is 10 When pH of a solution
merenses, the hydrogen ion concentration decreases to
1/10 of its ongmal concentration.

PH =~ log[H]
2NaOH +MgSO —7
(n) MgO +Na SOy (b) Mg (OH)s+Na;S0,
(¢) Mg(OH):+Na,O (d) MgO + Na,0
Page 10
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Ans : (b) Mg(OH) 4+ Na,;850,
2NaOH +MgS0O,; — Mg(OH) s+ Na,SO,

33, The reaction of metal with acid results in the formation

of-

(a) only hydrogen gas

(b) only salt

(¢) bath salt and hydrogen gns

(d) none of these

Ang : (¢) both salt and hydrogen gas

Pluster of Paris hardens hy-
(o) gving uf CO, (h) changing into CaCO,
{€) combining with water  (d) giving out water
Ans : () combimmng with water
CaSO,4 + $H:0 + FH0 — CaSO, - 2H,0

PP Srpon
Aquecns solation of copper sulphate reacts with
agueous ammonium hydroxide zolution to give.
{8) brown precipitate (b) pale bl precipitate
(¢) white precipitate (d) green precipitate
Ans : (b) pale blue precipitate
CuS0q4(aq) + 2NH,OH (aq) — Cu(OHj3(e) + (NH)1SO(s)
When agueous solution of copper sulphate react with
aqueotts ammonium  hydroxide solution, then pale
blue precipitate of Cu(OH)s are furmed.

The pH of n solution 5 60, Its hydrogen won
concentration s decreased by 100 times, the solution
will be :

{n) more acidic
{¢) neutral

Aus : (c) neutral
pH =—logH*
5 =~ logH"
10" = [HY)
When hyvdrogen ion concentration is deoreased by 100
times, them solution will be neutral

(b) basic
(d) nnaffected

10" =

10
107 x 107 = [HY]

1077 = [H7]

When an acid reacts with a metal carbonate or metal
hydrogen earbonate, it gives the corresponding salt,
Anz : earbon dioxide, water

The salts of a strong acid and strong base are .. ...
with pH valie of 7 On the other hand, salts of strong
base and weak acid are . with pH wvalue
than 7 and those of a strong acd and weak bases e

16.
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in natwre with pH value than 7
Ans : nentral, basic, move, acdic less

Anhydrons sodinm carbonate 1 commonly known as

ENO contams cand is . in nature,
Ans : sodium hydrogen carbonate, basic

Alkali veacts with ammoninm salts to produce

vorresponding salt, water and evolve ... .

Ans : summonma

Zn(OH)s 15 ... base.
Ans : discudic
The strength of acids and bases depends on the number

of . jons and . jons produoced respectively,
when dissolved m wuter, Aads like HC1O; which
dissociate almost completely in water are calbed
neids

Ans : hydrogen, hydroxide, strong

Aadsare .. ... m taste and change the colonr of blue
litrous to

Ans @ somr . red

An acid that containg more than one acidic hydrogen
atom 15 called a . ...

Ans : polyprotic acid

Buses mie ... taste and change the colour of red

Ans : bitter, blue
oo 15 a natarel mdicator whereas . . 18 o
synthetic udicator A .. ... indicator i a mixture of

Ans : Litmus, phenolphthalein, universal

Oxy acikds contains atoms i addition to
hydrogen atom.

Ans : oxygen

...... i the fxead mumber of water malecnles

chemmcnlly attached to each formuls wmt of @ sult in
ita erystalline form.

Ans : Water of crystallisation

When an acid reacts with ametal, . gas is evolved
ond o conesponding .. 15 formed.

Auns : hydrogen, salt

Soda-neid  fire extinguisher contains & solution of

et Page 11
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2

sodiutu hydiogen catbonate and . .
Ans : sulphurne sad

All ulkali mie buses but all bases e ... alkals
Ans : not

Hydrogen chlonide gas turns the blue litimus red
Ans : False

Nentral solutions have a pH of 0
Ans : Trae

Acids and hases nentraliso esch other to form
corresponding salts and water,
Ans : True

When a base yeacts with a metal, along with the
evalntion of hydrogen gas a salt is formed which has a
positive 1on composed of the metal and axvgen
Ans : False

Baking powder 1= nsed in baking cakes
Aus : True

Mixing concentiated neids or bases with water 15 o
higghly endothermic process.
Ans : False

Acidic nature of a substance is due to the formation of
H*(aq) 1onz i solution
Ans : True

Solution of sodinm hvdrogen carbonate is acidic in
nature.
Ans : False

Sodium hydrogen carbonute is used in fire extinguisher.
Ans : True

Washmg soda on strong heating gives sodium axide
and carbon dioxide
Ans : False

Hydrogen chlorde gas turms blue Ltmus red
Ans : False

FPlaster of Pans is obtained by heating gypsmm at
373K i a klin
Ans : True

The colour of caustic soda turns pink
phenolphthalein is added.
Ans : Trne

when

W Aadic or basic solutions in water conduct electricity

as they produce hydrogen and hyvdroxide ions

respectively.
Auns : Tiue

Bleachmg powder 1= used for dismnfocting drmbkang
waler
Anx : True

Sohition of sodinm hydrogen carbonate is alkaline in
nature.

Ans : True

There are a vunety of strengths when you study acids
and bases

Ans : True

An agueous solution is one that has compounds
dissolved in water.

Ans : True

DIRECTION : Each question contmns statements given m
two columns which have to be matched Statements (A, B, C,
D) i column [ have to be matched with statements (p, q, 1. s)
in colwnn 1T

1

3.
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Coluom I gives nature of acids and bases mention in
colnmm I, match them correctly

Column 1 Colwnn 11
(A) | HCH (p) |strong acid
(B) |HON (@) |weakiacia
() | NaOH (r) | weak buse
(D) | NH.0H (s) | strong base

Ans: A-p. Bq, C-s, Dey

Colmum 11 give acid and base from which salt mention
in cobimn |, match them corvectly

Colwmna | Column 11

(A) | KNO, (p) | Nitric acid, silver hydroxide

(B) | AgNOy (q) | Hydrochlode acid,
Magnesium hydioxide

(C) | MgCl, {r) | Carbonic acid. Ammoniuim
hydrexide

(1) | (NH):CO04 (s) | Nitoe neid, potassium
hvdroxide

Ans: As, B-p, C-q, D-r

Colmun Il gives type of reaction mention i colammn |
match them correctly.

Coluon 1 Colwmn 11
(A) | NaHCO4 (p) | Baking soda
(B) |NaOH (q) | Alkalne
(€) | KHSO, (r) | Acidic salt

Page 12



Chap 2 . Acud Base and Salt

Calumn | Colamn 1T
(D) | Ca(om), (e) | Bitter taste
A 1Y C D
(a) |pq.r l|qs q, 7 q, =
(b) |p q.s 5 r
(€) |a 8 P r
(d) |r . la 5 P
Ans: (s) A-p.q.r, Bg. s, Cq, 1, Dgq, &
4
Column | Colurom 1
(A) | Solution of pH 55 |(p) | Neutral
(B) |Solution of pll 5 |(g) | Acidic
(C) |Sohtiomof pH4  |(r) |[OH]=10"
(I3) |Soltion of pH 7 | (s) |Basic
Ans: (d) A-s, B-p, Cq. Der, s
A B C D
() s q, 8 P T
(h) & T q, 5 p T
(¢) P8 9 T8 P
(d) s » q 1,9
5
Coluon 1 Colunn 11
(A) | Mono basic {p) | KOH
(B) | Dabasic {q) | Ca(OH),
(C) | Discidic (r) | H.SO,
(D) | Mono acidic (s) | HNO,
A B C D
() 5 T q P
(b P a 5 v
(¢) q 8 P I
(d) T q £ n
Ans : (a) A-s, B-r, C-q D-p
&
Colmm 1 Colimmn 11
(A) | Ploster of Paris | (p) CaSO, + 2H:0
(13} | Bleaching {a) Nag00, - 10H;0
powder
(C) | Washing soda | (1) e80, - 11,0
(1) | Baking sods (x) CaOCl,
(E) Cypswun (L) NaHCO,

Dowidoad all GUIDE and Sample Paper pdfs from +

Ans : Aer, Beg. Coq D-t E-p

DIRECTION : n the following questions, a statement of
assertion (A) is followed by a statement of reason (R) Mark
the correct chowce as:

(s) Both aseertion (A) and reason (R) are true aud
reason (R) is the cormrect explanation of assertion
(A)

(b) Both assertion (A) and reason {R) are tme but
renson (R) = not the comect explamation of
assertion (A)

(€) Assertion (A) is true but reason (R) is false

(d) Assertion (A) is false bot veason (R) is true

(e) Both Assertion and Reason are false,

1 Assertion : While dissolving an swid or base in water,
the acids st always be added slowly to water with
constant sturing.

Reason : Dissolving an acid on a base In water in
highly exothermic reaction.

Ang 1 (n) Both assertion (A) and renson (R) are true
and reason (H) i the correct explanation of assertion
(A}

2. Assertion : On adding HySO4 1o water the vesulting
aqueons solution get corrosive
Reason : Hydiomum 1oms ure responsible for corrosve
actiom

Ans : (a) Both assertion (A) and reason (R) are true
und reason (R) = the conect explanation of assertion
(A).

Becuuse H.SO, is a strong acikd, it readily forms
hydronium fons when dissolved i water which are
1esponsible for its comasive action.

3. Assertion : Phenolphthalein gmves pink colour in hasic
solution
Reason : Phenolphthalein s a natural indicator
Ans : (¢) Assertion (A) is true but reason (R) is false

4. Assertion : HCl gas does not change the colony of dry
blue litmus paper,
Reason : HO gas dissolves in the water present in wet
litmus paper to from H' ions.
Aus: (8) Both wsertion (A) and reasan (R) are tue
and reason ([R) is the correct axplanation of sssertion
(A

§.  Assertion : HCI produces hydronium ions (H;07) and
chloride ions (C17) in aqueons solution
Reason : In presence of water basic give H® fons.
Ans : () Assertion (A) is true but reason (R) is false.
HCI produces H™ ioms in aqueons solution becouse
in presence of water, acids give H™ ions. As H® ions
cannot exist alone so it combines with water molecules
and form HyO.
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Assertion : H.COj is a stiong acid.

Reason : A strong acid dissociates completely on
almost completely i water

Ans ¢ (d) Assertion (A) 1s false but reason (R) is true.

H,CO; carbonic acid is a weak acid

Assertion : Sodinm hydroxide reacts with zine to
produce hydrogen gas.

Reasom ¢ Acids rencts with active metals to produce
hydrogen gas.

Auns : (b) Both assertion (A) and reason (R} are
tre but reason (R) is not the correct explanstion of
assertion (A).

Sadinm hvdroxide being an strong base, reacts with
active metal (zine) to product Hy gas The reaction is
given as follows:

Zn(s) + 2NaOH(aq) — Na,ZmO.(aq) + Ha(g)

Assertion : Salts arc the products of an acid-base
Teaction.

Reason : Salt may be acidic or basic.

Ans : (h) Both assertion (A) and reason (R) are
true but reason (IR) 18 not the carrect explanation of
assertion (A).

Assertion : Ammoniu solution = an alkali

Reason : Ammonia solntion turns blue littows poper
red.

Ans : (0) Assertion (A) is true but reason (R) 15 false
Mnmoma gas, which is alkaline, tum the red litmus
paper blne

Assertion : Weak neids have low electrical condnctivity
Reason : Strong acids and wesk aeids have oqual
concentyation of hydrogen ions in their solutions

Axns : () Assertion (A) 1s true but reason (R) is false

Assertion : Baking soda creates acidity in the stomach
Reason : Baking sodn s alkaline.

Ans : (d) Assertion (A) is false but resson (R) is true

Bakmg soda, being alkaline. neutralises the acidity in
the stomach and removes it

Assertion : Duning clectiolysis of concentrated aqueous
solution of sodinm chloride, hydrogen s produced ot
anode and chlonne gas = produced at cathode
Reason : lons get attracted to oppositely charged
electrodes.

Ans : (d) Assertion (A) is false but reason (1) is true

Assertion : To dilute concentrated snlphuvic acid
water 5 added to the aad slowly

Reason : A lot of heat energy will be given ont in the
dilution of conventraiad sulphuric acid

Ans : (a) Both sssertion (A) and reason (R) are true
and reason (IR) is the corvect explanation of assertion
(A)

Water is never added to concentrated salphunic acid
ag it 15 an exothermic reaction and releases a larpe
smount of heat energy It also results  spurting of
the acid, winch can bum vour skin Concentrated

15.

18

snlphnric acid s added to water in stoall amonnts and
that wo with constant stirring and cooling.

Assertion : Pure water i neither acidic not basic
Reason : The pH of o solution is mversely proportional
to the concentration of hydrogen fons in it

Ans : (b) Both assertion (A) and reasem (R) are
true but reason (R) is not the correct explanation of
assertion (A)

Assertion : When comman alt is kept apen, it absorbs
masture from the air

Reason : Common salt comtains magnesinm chloride
Ans : (a) Both assertiem (A) and reason (R) are troe
and reason (R) 1 the correct explanation of assertion
(A)

Magnesinm  chloride  present i commaon  salt s
deliquescent 1o it absorbs moisture from the air
when kept in open.

Assertion : Gas bubbles are observed when sodium
carbonate is ndded to dilute hydrochlonde acd.
Reason : Carbon dioxide iz given aff in the reaction
Axs : (a) Both assevtion (A) nand reason (R) are troe
and resson (R) is the carrect explanation of sssertion
(A)

Assertion : pH of ammonmum chloride solution is
acidic range.

Reazon : Salution of a salt of weak base and strong
acul 15 scadic.

Ans : (n) Both assertion (A) mnd reason (R) are tine
and reason (R) is the correct explanation of assertion
(A).

Ammonium chloride & formed by NH,OH (weak
base) and HC (strong acid)

Asszertion : When zine is added to dilute hydrochloric
acid, hydrogen s given off

Reason @ Hydrogen chlovide molecules  contain
hydrochlone acid and hydrogen atoms.

Ans : (b) Both ssserton (A) and resson (R) are
true bot reason (R) s not the correct explanation of
assertion (A)

The metal zine readily reacts with hvdrochlorie acid to
produce hydrogen gas (Hy) and zine chloride (ZnCly).

Assertion : H;PO, and H,S0, are known as palybasic
acuds.

Reason : They have two or more than two protons per
molecule of the acid.

Ans : (a) Both A and R wre true and R is the correct
explanation of A

H:;PO, &+ H,POTHH"
HiPO7 + H*+HPOT
HPOF = H' 4+ POY
Similarly bases which give two or more than two

hyvdroxyl jons per molecule are known as polyacidic
bases.

Assertion : If the pH inside the mouth decreases below
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Chap 2 Acid Base and Saht.

5.5, the decay of tooth ensmel begins

Reason : The bacteria present m mouth degy ades the
sugar and left over food particles and produce acids
that remnins i the mwouth sfler eating.

Ans : (a) Both assertion (A) and veason (R) ane troe
and reason (K) is the correct explanation of assertion
(A)

21 Assertion : pH =7 signifies pure water
Reason : At this pH. [H*] = [OH7] = 1077
Ans @ (d) Assértion (A) is false but resson (R) i true

pH =7,
signifies nentral solution

22. Assertion : The agqueous solutions of glucose and
aloohaol do nat show acidie character
Reasou : Aqueous solutions of glhuwcese snd sleohol do
not give H* jons
Ans : (a) Both assertion (A) snd reason (R) are true
and reason (R) 15 the cortect explanation of assertion
(A)

23. Assertion : The acidity of Mg(OH). is two.
Reason : The acidity of a base 15 equal to the munber
of hydroxy! ioms.

Ans : (a) Both assertiom (A) and veason (R) are true
and resson (R) 18 the correct explanation of sssertion
(A)

WM Assertion : Plaster of Paris s nsed by doctors by
seiting fractured bones
Reason : When Plaster of Paris is mixed with water
and applied around the fractured limbs, it sets mto a
hard usss.
Aus : (a) Both assertion (A) and renson (R) e true
and yenson (R) s the correct explanation of assertion
(A).

Plaster of Parie when mixed with water and applied
around the fractured limbes, it sets in to a had moss
and keeps the bone Jaints in a fixed position. So, it is
commonly used for settmg fractured bones.

26. Assertion : In water, Hydrochloric acid behaves as o
wenk wonobasic ackd.
Reason : In water, Hyvdvochlorie acid acts as a proton
donor.

Ans : (d) Assertion (A) is false but yenson (R) is true
HCI (Hydrochloric) i= a strong acid.

HCl = H' 4+ C1
It donate proton in walter.
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